é ﬁ g) Multiplica decimales por 10,100,1000

Nombre: Fecha: Puntuacion:
1,847 x 1000 = 4,831 x 10 =
9,859 x 10 = 9,494 x 100 =
9,064 x 10 = 8,279 x 10 =
3,368 x 10 = 7,325 x 100 =
4,44 x 100 = 2,713 x 1000 =
3,073 x 1000 = 3,783 x 1000 =
8,875 x 10 = 7,222 x 100 =
5,22 x 100 = 10,562 x 100 =
5,879 x 100 = 9,639 x 10 =
10,925 x 1000 = 5,788 x 10 =
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é é a) Multiplica decimales por 10,100,1000

Nombre: Fecha: Puntuacion:

1, 847 x 1000 = 1847 4,831 x 10 =48.31

9, 859 x 10 = 98.59 9,494 x 100 = 949.4
9,064 x 10 = 90.64 8,279 x 10 = 82.79
3,368 x 10 = 33.68 7,325 x 100 = 732.5
4,44 x 100 = 444 2,713 x 1000 = 2713
3,073 x 1000 = 3073 3,783 x 1000 = 3783
8,875 x 10 = 88.75 7,222 x 100 =722.2
5,22 x 100 = 522 10, 562 x 100 = 1056.2
5,879 x 100 = 587.9 9,639 x 10 = 96.39
10,925 x 1000 = 10925 5,788 x 10 = 57.88
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